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GEOMETRIC CONSTRUCTIONS

1. AN ABC — A PQR,in A\ ABC, AB -54
cm, BC = 42 cm, AC = 6.0 cm, AB: PQ = 3:2

Construct A ABC and A PQR


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_43RYbQjqQgu6

° Watch Video Solution

2. Construct § ABC such that m/ZA4 = 55° |

m/B=60° and | (AB) =5.9 cm.
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Rough figure

I ° Watch Video Solution


https://dl.doubtnut.com/l/_43RYbQjqQgu6
https://dl.doubtnut.com/l/_Si7DpGwOB2Uo

3. If the radius of a circle is 21 cm then area of

the circle is

o Watch Video Solution

4. Construct a parallelogram ABCD such that
[(BC) = Tcm,

m/ABC = 40°,l(AB) = 3cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_Si7DpGwOB2Uo
https://dl.doubtnut.com/l/_19BWNvlXYQhe
https://dl.doubtnut.com/l/_J9b9QvXbpX4J

Practice Set 4 1

1. Draw AABCAB=3 cm,BC=4 c<m,AC=5

cm,measure /B.

o Watch Video Solution

2. Construct A PQR such that | (PQ) =7 cm, |

(OR) =8 cm and | (PR) =9 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_7fiDEAa6ez7o
https://dl.doubtnut.com/l/_C2GUgq3wL22z
https://dl.doubtnut.com/l/_SNQJm4FNEZIa

3.In A LMN, | (LM) =6.2 cm. mZ LMN =60°, |

(MN) =4 cm. Construct A LMN.

&2

° Watch Video Solution

4.In A LMN, | (LM) = 6.2 cm. mZ LMN =60°, |

(MN) =4 cm. Construct A LMN.

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_SNQJm4FNEZIa
https://dl.doubtnut.com/l/_RQ4NATCrj6Ut

Practice Set 4 2

1. Solve the following questions : (Any2 ) (1)
Draw a circle with centre P and radius 3.5 cm.

Take a point A on it. Draw a tangent at point A.

° Watch Video Solution

2. Draw a circle of radius 2.7 cm.Draw a

tangent to the circle at any point on it.

o Watch Video Solution



https://dl.doubtnut.com/l/_pGKfAUaOhTQd
https://dl.doubtnut.com/l/_bjTdvIVeDt7b

3. Draw a circle of radius 2.7 cm.Draw a

tangent to the circle at any point on it.

° Watch Video Solution

4. Draw a circle of radius 3.3 cm.Draw a chord
PQ of length 6.6 cm.Draw tangents to the
circle at points P and Q.Write your observation

about the tangents.

o Watch Video Solution



https://dl.doubtnut.com/l/_tLRq4oR9xJst
https://dl.doubtnut.com/l/_UkPbtqR6wg8F
https://dl.doubtnut.com/l/_G8LneJMrp62m

5. Draw a circle with radius 3.4 cm.Draw a
chord MN of length 5.7 cm in it.Construct

tangent at point M and N to the circle.

o Watch Video Solution

6. Draw a circle of radius 29 cm. Draw a

tangent at point P on the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_G8LneJMrp62m
https://dl.doubtnut.com/l/_pQn22LnNN70m

7.Draw a circle of radius 2.7 cm.Draw a tangent

to the circle at any point on it.

o Watch Video Solution

Problem Set 4 MCQ

1. The number of tangents that can be drawn

to a circle at a point on the circle is....a)3 b)2

c)1d)0

A.3


https://dl.doubtnut.com/l/_O9q2ZRV6p11A
https://dl.doubtnut.com/l/_AAeUb12XEjyJ

B.2

C.1

D.O

Answer:

o Watch Video Solution

2. The maximum number of tangents that can
be drawn to a circle from a point outside it

[J3— a)2 b)1 c) one and only one d)0O


https://dl.doubtnut.com/l/_AAeUb12XEjyJ
https://dl.doubtnut.com/l/_ADZVXFSv3761

A2

B.1

C.one and only one

D.O

Answer:

o Watch Video Solution

3.NAXYZ XY=4cm,YZ=6cm,XZ=5cm.
If AXYZ~-APQR and PQ = 8 cm, then find

the length of remaining sides of APQR .


https://dl.doubtnut.com/l/_ADZVXFSv3761
https://dl.doubtnut.com/l/_pp17m6VaH3uY

A. AABC is bigger

B. APQR is bigger

C. Both triangles will be equal

D. Can not be decided.

Answer:

° Watch Video Solution

Problem Set 4


https://dl.doubtnut.com/l/_pp17m6VaH3uY

1. Draw a circle of radius 2.9 cm. Draw a

tangent at point P on the circle.

° Watch Video Solution

2. Draw a circle with radius 3.4 cm.Draw a
chord MN of length 57 cm in it.Construct

tangent at point M and N to the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_GvqzxHlQna7R
https://dl.doubtnut.com/l/_akkjkPaC2OsA

3. Draw a circle of diameter 7 cm. Take a point
M at a distance of 10cm from its center.
Construct a pair of tangents from the point M

to the circle.

o Watch Video Solution

4. Draw a circle of radius 3.3 cm.Draw a chord
PQ of length 6.6 cm.Draw tangents to the
circle at points P and Q.Write your observation

about the tangents.

| & I


https://dl.doubtnut.com/l/_FBSjopuco1bM
https://dl.doubtnut.com/l/_rtHeCpzrSS24

| ¥ Watch Video Solution |

5. Draw a tangent to a circle of radius 3 cm

and centre'O' at any point 'K' on the circle.

° Watch Video Solution

6. In AABC, /A =T76°, /B = 48° , then

£LC =

o Watch Video Solution



https://dl.doubtnut.com/l/_rtHeCpzrSS24
https://dl.doubtnut.com/l/_V9t5avXHbSOm
https://dl.doubtnut.com/l/_QK7mUCYnZPyp
https://dl.doubtnut.com/l/_RAD3S5YrGU7s

7. Construct A PQR such that | (PQ) =7 cm, |

(OR) =8 cm and | (PR) =9 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_RAD3S5YrGU7s

